=

T

2 -1-
UN,,, d*N/dy.dp. [(GeV)’
o

|
<
N

1073

107

Ratio to ALICE

0.5

9QO va P

PT(A) (lyl <0.75)

m ALICE
---0-- Pythia 6.425 atlas-csc
--+-- Pythia 6.425 d6t
Pythia 6.425 default
---%-- Pythia 6.425 dw
—oe— Pythia 6.425 p0

Spft QCD

I G\ —]
~
~
\‘O _
\ ,»’:§
\ - -7
AY ’/,/
I - —]
¥::::X\ . el
A3N \\ ,"~\ _,——v ——————————— ;’,’
I AN T ~a _——— e J—
NERRY . ~y-- ¥ mmmmmmm
LAY 2,7 S~ ==
NEURY . % -
Y 7
| \O\'"! l [
1 L 1 L H A — 1 1 1 1 1 1 1 i 1 L 1

Rivet 3.1.0, = 7M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


